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Blocks of Highlighted Text

Block Title

This is the block environment. The quick brown fox jumps over the
lazy dog. The quick brown fox jumps over the lazy dog. The quick
brown fox jumps over the lazy dog.

Block Title

This is the exampleblock environment. The quick brown fox jumps
over the lazy dog. The quick brown fox jumps over the lazy dog.

Block Title

This is the alertblock environment. The quick brown fox jumps over
the lazy dog. The quick brown fox jumps over the lazy dog.
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Heading
1. Statement
2. Explanation

3. Example

The quick brown fox jumps over
the lazy dog. The quick brown fox
jumps over the lazy dog. The quick
brown fox jumps over the lazy dog.
The quick brown fox jumps over
the lazy dog.
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EH G

EX 3.1
This is a definition environment. X & —AN2 LI,

51H 3.1

This is a lemma environment. X & —/~5| B3R5

Al 3.1

This is a proposition environment. X% —A 4 M IRF.
pbrop

JEH 3.1 (Mass—energy)

This is a theorem environment. X & —/~2 FE3IR5.

JERA: This is a proof environment. IX & —/MiEBHIAEL. U
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EH 3.2 (Lax-Milgram Lemma)

Let X be a Hilbert space, let a(-,-) : X x X — R be a continuous and
coercive bilinear form, and let F: X — R be a linear functional in X'.
Then the variational problem:

Find uw € X such that (3.1)
a(u,v) = F(v), Yv € X. '

has a unique solution. Moreover, we have

1
< =||F |l x- 2
lull < ~11Fllx (3-2)
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%1 1 (Theorem Slide Code)

\begin{frame}

\frametitle{Theorem}

\begin{theorem} [Mass--energy equivalence]
$E = mc™2$

\end{theorem}

\end{frame}

31 R ANELE
Treatments Response 1 Response 2

Treatment 1 0.0003262 0.562
Treatment 2  0.0015681 0.910
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—HIFEEN 1em) HJEH.

% 3.2 KA S R EAEA.

75 S B A
1 14 156 42
2 16 158 45
3 14 162 48
4 15 163 50
S 15 159.75 46.25
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Uncomment the code on this slide to include your own image from the
same directory as the template .TeX file.
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4.1: Caption of Figure 1.
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4.2: Caption of Figure 1.

4 4.3: Caption of Figure 2.
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An example of the \cite command to cite within the presentation:

This statement requires citation [Smith, 2012].

SCHR TR (2R, 2009], AT LMES] H SCHRFE .
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